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eUseful information:
Speed of light, C = 3.0x10" m/s
Planck’s const., h=6.626x107 J.s
Avogadro’s No., N 6.022x10* mol™
Rydberg const. for H atom Ry = 2.18 x107" J
Mass of the electron, m,=9.11x 107" kg |
Gas constant, R = 0.082 L atm K™ mol™ J
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Choose the correct answer

B-1 Which of the following is nof a mixture?

a) Salt solution b) Nitrogen ¢) Fruit salad

B-2 What is the SI unit for mass?
a) Milligram b) Pound ¢) Gram

B-3 How many centimeters are there in 1.5 decimeters?
a) 150 cm b) 1.5 cm c)0.15cm

d) Milk

d) Kilogram

d) 15 cm

B-4 What is the symbol of the element that has 26 neutrons and a mass number of 487

a) Fe b) Ti c) Cd

B-5 How many electrons are in j3A4137?
a)13 b) 14 c)10

B-6 Which of the following elements is a metal?
a)P b) Zn c) He

B-7 Which two of the following pair of atoms are isotopes?

a) BK and XK b) 33Ca and 2S¢ ¢) 2Geand 2§

16

B-8 Which three elements have similar chemical properties?
a)B, 0, C b) Na, K, Cs ¢) Ca, K, Ti

B-9 Which of the following could be an empirical formula?
a) C-Hg b] CgHg C) CgHg

B-10 An example of monatomic ion is
a)S b) SO, ¢) SO;*

B-11 How many moles are in 6 g of carbon?

a) 0.5 mole b) 4 mole c¢) 0.25 mole

B-12 How many atoms are there in 5.4 g of helium?
a)6.023 x 10”2 atoms  b) 4.46 x 107 atoms

¢) 12.41 x 10 atoms

d) W

d) 40

d) O

d) ¥caand 32K

d) Ni, Ag, Hg

d) CoHe

d)S?

d) 2 mole

d) 8.13 x 10* atoms
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B-13 Calculate the average atomic mass of nickel which consists of three stable isotopes: nickel-
58 (68.08 %), nickel-60 (27.26 %) and nickel-62 (4.66%) which have atomic masses of 57.94
amu, 60.93 amu and 61.93 amu respectively.

a) 58.94 amu b) 60.47 amu ¢) 62.07 amu d) 57.68 amu

B-14 What is the percent composition of phosphorus in Mg;(POy),?
a) 20 % b) 13.4% c) 23.7% d) 32.1%

B-15 A compound is composed of 40.68% carbon, 5.08% hydrogen and 54.24% oxygen by mass.
Determine the empirical formula of this compound?
a) CHO h) C;H50, c) C3H:04 d) C3HO4

B-16 The molar mass of the compound above found to be 118 g/mole. What is its molecular
formula?

a) C4HOy4 b) C3H;05 ¢) C3Hs0Os d) C3H,504

B-17 The process in which the concentration of solution is changed by adding more solvent is
called:

a) dilution b) mole c¢) Chemical symbols  d) Chemical reaction

B-18 After balancing the following chemical equation:
a AlLC; +b H:0 > ¢ Al(OH); +d CH;,
The sum of a, b, c and d (a+b+c+d) is:
a) 19 b) 20 c) 11 d) 10

B-19 How many grams of water is produced by burning 46 g of C;H;OH according to the
following equation:
# CszOH +7 02 -> 4C0;l, +6 H;{O
a)39g b)20 g c)18¢g d)54 g

B-20 The reaction of 10 g CaO with 5 g of CO; produced CaCOj3 according to the following

equation: Ca0 + CO; » CaCO;
The limiting reagent is:
a) CaO b) CO, ¢) Ca0 and CO; d) CaCOs

B-21 What is the excess reagent in the previous question (question 20)?
a) CaO b) CO, ¢) Ca0 and CO; d) CaCO;

B-22 What is the percent yield of CaCOj; in guestion (20) if 10 g of CaCOj; are actually obtained?
a) 100 % b) 50 % c) 88 % d) 114%
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B-23 What mass of NaCl is needed to prepare 1 L of (.4 M sodium ion solution?
2)92¢ b)20.5 g €)675g d)234¢

B-24 What volume of 0.5M NaOH solution would you need to prepare 200 mL of 0.1 M NaOH
solution?
a) 0.4mL b) 400 mL c) 40 mL d) 4 mL

B-251 L of a 0.5 M NaCl solution is mixed with 1 L of 0.1 M NaCl. What is the concentration of
NaCl in the final solution?
a) 0.4 M b) 0.3 M €)01M d)0.6 M

B-26 Calculate the density of gold metal with a mass of 50.5g and a volume of 2.62 cm’?
a) 132.3 g/mL b) 193 g/mL ¢)19.3 g/mL d) 0.019 g/mL

B-27 What is the chemical name of the formula SO;?
a) Sulfur dioxide b) Sulfur trioxide c) Sulfur oxide d) Sulfate

B-28 What is the correct formula of sodium nitrite?
a) NaNO; b) NaNO; c) NaN | d) NaNQO,

B-29 The correct formula of a compound consists of O and Na is
a) Na,0 b) NaO, ¢) NaO d) NaO;

B-30 Which of the following is most likely to be poor conductors of heat and electricity?
a) Li b) Ca c) Ni d) S
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